
Half Yearly Examination 2020 
Class – IX 

Time: 3.00 hr.                      Subject: English 2nd Paper             Full Marks:100 

 
Part A: Grammar (60 Marks) 

1. Fill in the blanks with the words from the box. You may need to change the forms of some of the words. 

You may need to use one word more than once.            .5×10=5 

dearth premier enough in impoverish over about the at before 

If you look wealthy or solvent (a) ____ to give a tip, there is no (b) ____of trolley carries at the emergency unit 

of the country’s (c) ____ public hospital. But you will be in trouble if you are (d) ____ handcuffs or have an (e) 

____ look written (f) ____ your face. When any patient carrying vehicle stops in front of any public hospital 

emergency unit, (g) ____ trolley men first glance (h) ____ the attires of the patient and his attendants to have 

an idea (i) ____ their financial status (j) ____ offering a trolley. 

2. Fill in the blanks with suitable words.              .5×10=5 

In case of humans, global warming will (a) ____ our food and water supplies as (b) ____ as our health 

conditions. Changes in rainfall (c) ____ affect basic necessities such as agriculture, power (d) ____, etc. Increase 

in the temperature of ocean (e) ____ will hamper fisheries. The sudden change in (f) ____ patterns will have a 

hazardous effect on (g) ____ human body which won’t be able to (h) ____ the extreme conditions, a hint of 

which (i) ____ be seen in form of frequent heat (j) ____ and cold waves. 

3. Make five sentences using the parts of sentences from each column of the table below.          1×5=5

              

Friction between teenagers and parents  

 be 

 

can 

certainly occur in all times 

It common features of the teenagers 

One obvious reason  the transition from dependence to independence 

Another source of friction very common 

Moreover, moody and sulky behaviours the difficult behaviours of the adolescents 

4. Complete the following text with right forms of the verbs given in the box.         .5×10=5 

discourage weigh supply be become buy find get visit buy 

A couple of days before PahelaBoishakh, popular fish Hilsa (a) ____ dearer due to its low catches and high 

demand. (b) ____ the fish markets, it (c) ____ that Hilsa (d) ____ 1.5 kg was selling for around Tk. 2000 and 

200-300 grams for Tk. 500. This year the supply of Hilsa (e) ____ less than last year’s. After (f) ____ Hilsa 

from the ports, the wholesalers (g) ____ it to the other areas of the country for (h) ____ more profit. But the 

high price often (i) ____ many of the common people to (j) ____ the fish. 

5. Change the narrative style of the following text.            5 

“What do you know about the landing on moon?” said Sabah to her cousin Mizan. “Neil A. Armstrong first 

landed on moon in 1969,” replied Mizan. “What tips may help me to be a successful astronaut?” “Let’s enjoy 

the film ‘Silent Sky’ at our home,” said Sabah. “Excellent! Where have you collected it from?” said Mizan. 

6. Change the sentences according to directions.                        1×10=10 

(a) Child labour is one of the biggest curses of the 21st century. (Positive) 

(b) It is the violation of human rights. (Interrogative) 

(c) Unfortunately this has become accepted in our society. (Complex) 

(d) Only poverty is responsible for this. (Negative) 

(e) In a family of five or six children, the parents have to send some of their kids to work so that they can fill 

up their empty stomachs. (Simple) 

(f) Though these poor children have to work hard all day long, in return they are rewarded with  all kinds of 

abuse. (Compound) 

(g) What an inhuman act it is! (Assertive) 

(h) Slavery is not as inhuman as it. (Comparative) 

(i) Child labour should be stopped by the government. (Active) 

(j) The government has taken steps to prevent child labour. (Passive) 
      7. Complete the sentences.                                                             1×5=5 

a) Without reading newspaper,___________. 

b) Slum dwellers are so poor that __________. 

c) An early riser gets enough time __________. 

d) No sooner had I reached home than __________. 

e) Honesty is the best policy that ________________ . 



       8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.                        

0.5×10=5 

King Solomon was (a)__(fame)___for his(b)__(wise)___ .He was blessed with (c)__(ordinary)___ knowledge 

and it was really beyond people’s (d)__(imagine)___ .One day Queen of Sheba wanted to taste how was he was. 

Solomon was given two kinds of flowers. One was (e)__(nature)___ and the other one was (f)__(artifice)___.As 

he had a close (g)__(associate)___ ,he became successful to differentiate them. In this way, his (h) __ (repute) 

___ on (i)__(dimension)___knowledge spread all over the world. 

     9. Make tag questions of these statements.                           1x5=5  

a) Everyone warned you,                            ? 

b) No one would object,                      ? 

c) There were many problems,                     ? 

d) Let’s do the work,                   ? 

e) Rashed will help you if you want ,                    ? 

10. Complete the passage using suitable connectors.                1×5=5 

(a)___, a winter morning is very cool. (b)___ I get up early in the winter morning , I have to face some problems. 

Nature looks pale(c)___  the sun rises. (d)___the sun rises, the fog disappears gradually. (e)___ there are some 

difficulties, I like this season very much. 

       11. Use capitals and punctuation marks where necessary in the following text.          5 

why dont you attend classes regularly the teacher said to rohan you cant expect good results unless you attend 

classes 

 

Part B : Composition (40 Marks) 

 

12. Suppose, you are Shamim and you have passed MA in English. You have seen a vacancy advertisement 

for the post of  A Senior Officer in a Company in a renowned Satellite TV Channel. Now, write a CV with a 

cover letter for the post. Your CV should not exceed one page.                        8 

 

13. Suppose, you are Simon. You study at St. Xavier’s School and College, Chattogram. You would like to 

get a canteen in the School  Now, write an application to the Principal of your institution  for setting up a 

canteen in the School.                                                                                                                                       10 

 

14. Write a paragraph on ‘Tree Plantation’.           10 

 

15. Write a composition on ‘The Importance of Reading Newspaper’.                                                             12 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Half Yearly Examination 2020 
Class – IX 

Time: 3.00 hr.                       Subject: English First Paper                     Full Marks:100 

 

Part- A : Reading Test (50 Marks) 

Read the following passage carefully and answer the questions below 1 & 2. 

 Paharpur is an important archaeological site situated in a village named ‘Paharpur’ in Naogaon district of 

northern Bangladesh. Naogaon is mainly plain land but in the middle of it stood a hill covered with jungle. When the 

jungle was cleared and the hill excavated, there emerged a lofty ruin of an ancient temple. The temple is about 24 

metre high from the surrounding level. ‘Pahar’ means hill. Hence is the name Paharpur. The Paharpur site has been 

excavated and re-excavated a number of times by archaeologists. Sir Alexander visited the place in 1879. Cunningham 

intended to carry out an extensive excavation but was prevented by the land owner. Nevertheless, he was satisfied 

with whatever excavation he was permitted to carry out. The site was declared to be protected by the Archaeological 

Survey of India in 1919 under the Ancient Monuments Preservation Act of 1904. Systematic and regular excavation 

started jointly by Archaeological Survey of India, and Varendra Research Society of Rajshahi and Kolkata (at that 

time known as Calcutta) University in 1923. They excavated the south-west corner of the monastery. Next in 1926-27 

onward, excavation was carried out under the supervision of KN Dikshit. The Department of Archaeology of 

Bangladesh brought the site under further excavation after independence. The operations took place in two phases. 

The first phase was initiated in 1981-82 and continued to 1984-1985. The second phase was started in 1988-89 and 

continued to 1990-91. Pre-liberation expeditions have revealed the architectural remains of a vast Buddhist monastery, 

the Somapura Mahavihara. It is dominated by the central shrine, attracting immediate attention by its lofty height and 

unusual architectural design. Somapura Mahavihara was one of the most famous Buddhist institutions for monks of 

ancient Bengal and in southern Asia. The excavated complex at Paharpur has been identified with the Somapura 

Mahavihara built by the second Pala king Dharmapala (781-821 AD). Some clay seals from the ruins bear the 

inscription ‘Shri-Somapure-Shri-Dharmapaladeva-Mahavihariyarya-bhiksu-sangghasya’. The Pala rulers were devout 

Buddhists and they founded a number of monasteries throughout their growing empire. Some of them became great 

centres of learning and> their reputation quickly spread throughout Asia. Somapura Mahavihara’s close relationship 

with the ruling dynasty implied that it shared the political ups and downs of its benefactors.   

     

1. Choose the correct answer from the following alternatives.                                                                1x7=7 

  (a)  What is the main purpose of the author of this passage? 

  (i) To show the religious activities of the Pala rulers  

  (ii) To show the assets of Paharpur  

  (iii) To show the architectural and religious signs of the Buddhists. 

  (iv) To show excavating expedition of different archaeologists  

 (b) After the excavation, the archaeologists discovered a huge _____.  

  (i) king’s palace   (ii) buddhist monastery  

  (iii) emperor’s courtyard  (iv) hindu temple  

 (c) The hill in Naogoan was hidden beneath ______.  

  (i) a thick wilderness   (ii) many trees  

  (iii) a shady area   (iv) a mountain  

 (d) Archaeologists started visiting Paharpur as early as ______.  

  (i) fifteenth century   (ii) twentieth century  

  (iii) eightieth century   (iv) nineteenth century  

 (e) The word ‘research’ means ______.  

  (i) overlook  (ii) investigate (iii) perceive  (iv) imagine 

 (f) Cunningham’s excavation plan was intercepted by ______.  

  (i) the people of the village  (ii) the land owner  

  (iii) the ruling party   (iv) a particular leader  

 (g) The word ‘benefactors’ in the text means ______.  

  (i) banks    (ii) famous businessmen  

  (iii) people with money  (iv) financial supporters  

2. Answer the following questions :                                                                              2x5=10 

 (a) From your reading of the passage, show how ‘Paharpur’ came into existence.  

 (b) Why was Cunningham satisfied?  

 (c) Describe how Somapura Mahavihara was discovered?  

(d) Do you support the idea that the Pala rulers were devout Buddhists? Why/Why not? Explain in 3                              

sentences.  

 (e) How do we know that it was built byDharmapala?  

 



3. Read the following text and fill in each gap with a suitable word based on the information of the text.    1x5=5 

 Air pollution comes from a wide variety of sources. In Bangladesh poisonous exhaust from industrial plants, 

brick kilns, old or poorly-serviced vehicles and dust from roads and construction sites are some of the major sources of 

air pollution. We can reduce this type of pollution by making less use of motor vehicles and avoiding the use of vehicles 

older than 20 years. We may also use proper lubricants to lessen the level of emission and pollutants. We can encourage 

people to use Compressed Natural Gas (CNG) or Liquid Petroleum Gas (LPG) for fuelling their cars. The government 

may relocate hazardous industries like brick kilns to areas away from human habitations.   

 

Air is the most important (a) ______ of human environment. Man cannot live a (b) ______ moment without air. But we 

do not think that it is we who always (c) ______ this most vital element. Clear air is essential for life. Air is polluted in 

many ways. For example, smoke pollutes air. Man makes fire to (d) ________his food, to make bricks, burn refuse, 

melt pitch for road construction and burn wood. All these things produce (e) ________ smoke and this smoke pollutes 

air. 

 

Read the passage and answer the questions 4 & 5. 

 Albert Einstein was one of the greatest scientists of the world. He was born as the first child of Jewish parents 

in Ulm, Germany on March 14, 1879. His father was a businessman and his family business was the manufacture of 

electronic parts. When the business failed in 1894, the family moved to Milan, Italy. Within a year, still without having 

completed secondary school, he failed in an examination that would have allowed him to pursue a course of study 

leading to diploma as an electrical engineer at the Swiss Federal Institute of Technology. He was an average student but 

was very interested in science and mathematics. He spent 1895 in a nearby high school in Aarau, a small town at the 

border of Germany and Switzerland. He returned to his Swiss Federal Institute of Technology in 1896 from where he 

graduated in 1900. He became a professor of theoretical physics at the University of Zurich in 1909. In 1921, he received 

the Nobel Prize for physics. 

4. Read the passage and complete the table below with information from the above passage.                        1x5=5 

 

 

 

5. Write a summary of the above passage in your own words.                                                          10 

6. Match the parts of sentences given in column ‘A’, ‘B’ and ‘C’ to write five complete sentences.               1x5=5 

Column A  Column B  Column C  

(a) The role of 

woman in nation 

building  

(i) the only instrument  (i) without any dignity 

and honour. 

(b) It is not possible  (ii) the outlook and 

attitude of the world 

(ii) to serve the family 

affairs. 

(c) There was a time  (iii) can’t be denied  (iii) towards women 

have changed. 

(d) They were  (iv) when women were 

looked upon. 

(iv) any more in the 

present situation of the 

world.  

(e) But with the 

progress of 

civilization 

(v) for any nation to 

reach its goal  

(v) without allowing the 

women folk to play their 

active role. 

 
7. Put the following parts of the story in correct order to re write the whole story. Only the corresponding 

numbers of the sentences need to be written.                              1x8=8 

 (a) The scientist was Alfred Bernhard Nobel.  

 (b) This prize is given to persons with most outstanding contribution in a field. 

Albert Einstein 

Work area  Professor and Researcher of Theoretical Physics 

Field of 

contribution 

(i) _____     

Who/What Event/Activity Place Year/Time Achievement/ 

Result 

Why/ 

Reason 

Albert 

Einstein 

Born  (ii) ___ 1879   

He  (iii) _____ Swiss Federal 

Institute of 

Technology 

1896 Receiving 

graduation in 

1900 

 

He  was awarded   (iv) _____ Nobel Prize   

His family  moved  Milan 1895  (v) ___ 



 (c) Though he was a citizen of Sweden, he was educated in Russia.  

(d) For this discovery, he not only became famous all over the world but also earned a huge amount of money 

by selling it.  

 (e) The prize was instituted by a man who was the inventor of the science of destruction.  

 (f) The Nobel Prize is the world’s most important prize.  

 (g) He was born in Stockholm on 21 October, 1833 and he died in December, 1896. 

 (h) He invented dynamite which is widely used for breaking rocks, digging petrol wells and in war. 

 

Part- B : Writing Test (50 Marks) 

8. Write a paragraph on “Your visit to a book fair”.                        10 

9. Read the beginning of the story. Add at least ten sentences to complete the story.   10 

It was a summer day. A crow became very thirsty. It began to move here and there in search of 

drinking water but in vain. The crow did not lose hope…… 

10. The following pie chart shows how Mr. Rahman spends his monthly income. Describe the 

chart in about 150 words. You should highlight and summarize the information given in the 

chart.                              10 

 
11. Write a letter to your younger brother about the importance of learning English.   10 

12. Write a dialogue between two friends about the importance of learning computer.   10 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Aa©-evwl©K cixÿv - 2020 

‡kÖwY: 9g 

mgq: 2 NÈv 30 wgwbU                  welq: mvaviY MwYZ (Avewk¨K) m„Rbkxj cÖkœ                             c~Y©gvb: 70 

 

[we. ª̀. : exRMwYZ Ask †_‡K 2wU, R¨vwgwZ Ask †_‡K 2wU, wÎ‡KvYwgwZ I cwiwgwZ Ask †_‡K 2wU Ges cwimsL¨vb Ask †_‡K 1wU K‡i †gvU 

7wU cÖ‡kœi DËi w`‡Z n‡e|] 

 

K-wefvM: exRMwYZ (†h †Kv‡bv 2wU cÖ‡kœi DËi `vI) 

1.  𝑥 +  
1
x =  3 Ges 𝑎 = √6 + √5 

K. 𝑚2 − 1 + 2𝑛 − 𝑛2 †K Drcv`‡K we‡kølY Ki|         2 

L. 

𝑎6−1

𝑎3  Gi gvb wbY©q Ki|          4 

M. 𝑥5 +
1

𝑥5 Gi gvb wbY©q Ki|          4 

2. 𝑎 =
5𝑦+1

(5𝑦 )𝑦−1  ÷
25𝑦+1

(5𝑦+1 )𝑦−1 Ges 𝑏 = 2𝑥 + 21−𝑥
 

K. mij Ki: (2−1 + 5−1)−1
            2 

L. †`LvI †h, 𝑎 ÷ √125
3

=
1

625
            4 

M.  𝑏 = 3 n‡j, 𝑥 Gi gvb wbY©q Ki|          4 

3. hw` (𝑖) 𝑔(𝑥)  =
1+𝑥2+𝑥4

𝑥2    

(𝑖𝑖) (𝑦)  =  𝑦3  +  𝑘𝑦2 − 4𝑦 − 8  

K. 𝑔(−
1

2
) Gi gvb wbY©q Ki|          2 

L. 𝑘 Gi †Kvb gv‡bi Rb¨ (−2)  =  0 n‡e?          4 

M.   †`LvI †h, 𝑔( 
1

𝑥2 )  =  𝑔(𝑥2)                           4 

 

L-wefvM: R¨vwgwZ (†h †Kv‡bv 2wU cÖ‡kœi DËi `vI) 

4. 𝑎 Ges 𝑏 ỳBwU wbw`©ó †iLvsk Ges ỳBwU wbw`©ó †KvY 𝑥 =  30 Ges 𝑦 =  60|  

K. K¤úvm e¨envi K‡i 𝑥 ‡KvYwU AuvK|          2 

L. Ggb GKwU mvgvšÍwiK  A¼b Ki hvi KY©Øq 𝑎 Ges 𝑏 GesZv‡`i AšÍfz©³ †KvY 𝑦 Gi mgvb|(A¼‡bi wPý I weeiY Avek¨K)  4 

M. Ggb GKwU UªvwcwRqvg mvgvšÍwiK  A¼b Ki hvi mgvšÍivj evûØq 𝑎 Ges 𝑏 ‡hLv‡b 𝑎 > 𝑏 Ges 𝑎 evû msjMœ †KvYØq 𝑥  Ges 𝑦  Gi 

mgvb|(A¼‡bi wPý I weeiY Avek¨K)         4 

5. 𝐴𝐵𝐶𝐷  PZzf©yRwU †Kvb e„‡Ë AšÍwj©wLZ|  

K. Ggb GKwU i¤̂m  A¼b Ki hvi GKwU evû 5𝑐𝑚 Ges GKwU †KvY 60|       2 

L. †`LvI †h, 𝐴𝐵𝐶 + 𝐴𝐷𝐶 = 1800            4 

M. PZzf©yRwU mvgvšÍwiK n‡j, cÖgvY Ki †h, PZzf©yRwU AvqZ |         4 

6. 𝑂 †K›`ªwewkó e„‡Ëi 𝐴𝐵𝐶 + 𝐴𝐷𝐶 = 1800  |  

K. ‡Kvb e„‡Ëi DcPvc Ges AwaPv‡c AšÍwj©wLZ †KvY Kx ai‡bi ‡KvY wjL|       2 

L. †`LvI †h, 𝐴, 𝐵, 𝐶, 𝐷 we›̀ y¸‡jv mge„Ë|         4 



M.  𝐴𝐶 ‡iLv 𝐵𝐴𝐷 Gi mgwØLÛK n‡j, cÖgvY Ki †h, 𝐵𝐶 =  𝐶𝐷       4 

 

M-wefvM: wÎ‡KvYwgwZ I cwiwgwZ (†h †Kv‡bv 2wU cÖ‡kœi DËi `vI) 

7. 𝑐𝑜𝑠𝑒𝑐 =  2𝑐𝑜𝑡 Ges√2𝑐𝑜𝑠(𝑥 − 𝑦) = 1 ,2𝑠𝑖𝑛(𝑥 + 𝑦) = √3 †hLv‡b 𝑥 , 𝑦 Ges 𝜃 cÖ‡Z¨‡KB m~ÿ†KvY|  

K. cot( − 300) =
1

√3
 n‡j   Gi gvb wbY©q Ki|          2 

L. 𝑥 Ges 𝑦 Gi gvb wbY©q Ki|          4 

M. cÖgvY Ki †h, 𝑐𝑜𝑠3𝐴 =  4𝑐𝑜𝑠3𝐴 − 3𝑐𝑜𝑠𝐴  †hLv‡b 𝐴 =  

2        4 

8. GKwU UªvwcwRqv‡gi mgvšÍivj evûØ‡qi ˆ`N©¨ h_vµ‡g 91 †m.wg. I 51 †m.wg. Ges Aci evûØ‡qi ˆ`N©¨ h_vµ‡g 37 †m.wg. I 13 †m.wg.| 

K. 𝑛 msL¨K evû wewkó mylg eû‡Ri †ÿÎd‡ji m~Î e¨envi K‡i mgevû wÎfz‡Ri †ÿÎd†ji m~ÎwU wbY©q Ki|    2  

L. hw` UªvwcwRqv‡gi cwimxgv GKwU e‡M©i cwimxgvi mgvb nq Z‡e D³ e‡M©i evûi ˆ`N©¨ wbY©q Ki|    4 

M. cÖ`Ë UªvwcwRqvgwUi †ÿÎdj wbY©q Ki|         4 

9.  ∆𝐴𝐵𝐶Gi 𝐵 =  90 , 𝐴𝐵 = 5 †m.wg. Ges 𝐵𝐶 = 12 †m.wg.  

K. 𝐴𝐶 Gi ‰`N¨© wbY©q Ki|         2 

L. 𝑠𝑖𝑛𝐵 + cos (𝐴 + 𝐵) Gi gvb wbY©q Ki|         4 

M. 𝐶 = 𝜃 n‡j cÖgvY Ki †h, 𝑠𝑒𝑐2𝜃 + 𝑐𝑜𝑠𝑒𝑐2𝜃 = 𝑠𝑒𝑐2𝜃. 𝑐𝑜𝑠𝑒𝑐2𝜃       4 

 

N-wefvM: cwimsL¨vb (†h †Kv‡bv 1wU cÖ‡kœi DËi `vI) 

10. Zvgvi we`¨vj‡qi 10g †kªwYi cÖvK wbe©vPwb cixÿvi 70 Rb wkÿv_x©i MwYZ wel‡qi cÖvß b¤̂‡ii MYmsL¨v wb‡ekb mviwY n‡jv wbgœiƒc : 

b¤̂i 50-55 56-61 62-67 68-73 74-79 80-85 

MYmsL¨v 3 10 18 25 8 6 

K. D³ mviYx †_‡K cÖPziK wbY©q wbY©q Ki|          2 

L. D³ mviYx †_‡K ga¨K wbY©q Ki|          4 

M. DÏxc‡Ki mviYx †_‡K MbmsL¨v eûfzR AsKb Ki|                     4 

11. 25 Rb wk¶v_x©i †Kvb GK wel‡qi cÖvß b¤^i wbæiƒc : 

75, 40, 52, 92, 87, 81, 43, 65, 69, 73, 95, 52, 66, 82, 89, 56, 47, 69, 57, 73, 84, 91, 77, 50, 62.    

K.  †kÖwY e¨vwß 10 n‡j †kÖwY msL¨v KZ? wbY©q Ki|         2 

L. †kÖwY e¨vwß 10 wb‡q MYmsL¨v wb‡ekb mviwY ˆZwi Ki|         4 

M. msw¶ß c×wZ‡Z Mo wbY©q Ki|           4 

 

 

 

 

 

 

 

 



 

 

Aa©-evwl©K cixÿv-2020 

‡kÖwY: beg 

mgq : 2 N›Uv 30 wgwbU                        welq t evsjv 2q cÎ (m„Rbkxj)                                   c~Y©gvb : 70 

 

1| †h‡Kvb GKwU wel‡q Aby‡”Q` wjL:                                                                           10 

         K) mZ¨evw`Zv 

 A_ev, 

         L) MÖš’vMvi 

 

2| ‡h‡Kvb GKwU wel‡q cÎ wjL:                                                                               10 

         K) ‡Zvgvi Rxe‡bi jÿ¨ Kx Zv Rvwb‡q †Zvgvi wm‡j‡Ui eÜz iv‡k‡`i Kv‡Q GKwU cÎ wjL| 

A_ev,  

         L) Avmbœ el©v †gŠmy‡gi c~‡e© GjvKvi iv¯Ív ms¯‹v‡ii Rb¨ KZ…©c‡ÿi `„wó AvKl©Y K‡i msev`c‡Î cÖKv‡ki Rb¨ cÎ wjL|  

 

3| mvigg© wjL:                                                                                                 10 

                ‰`b¨ hw` Av‡m, AvmyK, j¾v wKev Zv‡n 

                gv_v DuPz ivwLm 

                my‡Li mv_x gy‡Li cv‡b hw` bvwn Pv‡n 

                ‰ah© a‡i _vwKm| 

                iæ`ª iƒ‡c Zxeª `ytL hw` Av‡m †b‡g 

                eyK dzwj‡q `uvovm 

                AvKvk hw` eRª wb‡q gv_vq †f‡½ c‡o 

                E‡aŸ© `y nvZ evovm| 

 A_ev,  

 

     mvivsk wjL: 

            wK‡m nq gh©v`v? `vwg Kvco, Mvwo-‡Nvov, bv VvKzi-`v`vi Kv‡ji Dcvwa‡Z? bv, gh©v`v Gme wRwb‡m †bB|    

            Avwg †`L‡Z PvB †Zvgvi wfZi, †Zvgvi evwni, †Zvgvi AšÍi| Avwg Rvb‡Z PvB, Zzwg PwiÎevb wKbv, Zzwg   

            m‡Z¨i DcvmK wKbv| †Zvgvi gv_v w`‡q Kzmy‡gi MÜ †e‡ivq, †Zvgvq †`L‡j `vm-`vmx †`Š‡M Av‡m, cÖRviv  

            †Zvgvq †`‡L mš¿¯Í nq, Zzwg gvby‡li Nv‡o P‡o nvIqv LvI, gvbyl‡K w`‡q RyZv †LvjvI, Zzwg w`‡bi Av‡jv‡Z   

            gvby‡li UvKv AvZ¥mvr Ki| evc-gv, k^ïi-kvïwo †Zvgvq Av`i K‡ib, Avwg †Zvgvq AeÁvq eje-hvI| 

 

4| †h‡Kvb GKwU fve-m¤úªmviY Ki:                                                                             10 

          K)    KZeo Avwg, K‡n bKj nxivwU 

                 ZvB †Zv m‡›`n Kwi bn wVK LuvwU| 

 A_ev,  

          L)    `ybx©wZ RvZxq Rxe‡bi mKj DbœwZi AšÍivq|  

 

5| †h‡Kvb GKwU wel‡q cÖwZ‡e`b iPbv Ki:                                                                    10 

           K) †Zvgvi we`¨vj‡q AbywôZe¨ weÁvb †gjvi Ici GKwU cªwZ‡e`b iPbv Ki| 

 A_ev,   

          L) wbZ¨ cÖ‡qvRbxq `ª‡e¨i g~j¨e„w×i KviY I cÖwZKvi m¤^‡Ü GKwU msev` cÖwZ‡e`b ˆZwi Ki| 

 

6|  †h‡Kvb GKwU wel‡q cÖeÜ iPbv Ki:                                                                        20 

          K) msev`cÎ  

          L) K…wl Kv‡R weÁvb 

          M) el©bgyLi GKwU w`b 

 

 

 

 



 

Aa©-evwl©K cixÿv-2020 

‡kÖwY: beg 

mgq : 30 wgwbU                       welq t Z_¨ I †hvMv‡hvM cÖhyw³ (eûwbev©Pbx Afxÿv)                     c~Y©gvb : 25 

 

[cÖwZwU cÖ‡kœi DËi w`‡Z n‡e, mKj cÖ‡kœi gvb mgvb] 

1. wWwRUvj Kb‡U›U G †k¦ZcÎ Kx?  

 K. ‡U·U   L. Qwe   

     M. Gwb‡gkb    N. GbvjM Z_¨  

2.  wWwRUvj gva¨‡g e¨eüZ B-eyK msev`cÎ Kx?  

 K. KvUz©b  L. Qwe   

      M. †U·U  N. Gwb‡gkb 

3. wb‡Pi †KvbwU wfwWI †kqvwis mvBU?  

 K. ¸Mj  L. wes   

     M. BDwUDe  N. UzBUvi  

4. Kw¤úDUv‡i Kb‡U‡÷i ˆewkó¨ n‡Z cv‡i-  

 i. wWwRUvj DcvË AvKv‡i weivR K‡i  

  ii. wWwRUvj DcvË AvKv‡i cÖKvwkZ nq  

  iii. GbvjM DcvË AvKv‡i †cÖwiZ nq    

 wb‡Pi †KvbwU mwVK?  

 K. i I ii  L. ii I iii   

      M. i I iii  N. i, ii I iii  

5. †U·U Kb‡U÷ Gi D`vniY- 

 i. eøM †cv÷  ii. Bb‡dvMÖvwd·  iii. B-eyK    

 wb‡Pi †KvbwU mwVK?  

 K. i I ii  L. ii I iii   

      M. i I iii  N. i, ii I iii  

6. wWwRUvj gva¨‡g e¨eüZ wewfbœ ai‡bi †U·U n‡jv-  

 i. wbeÜ  ii. eøM †cv÷  iii. c‡Y¨i ZvwjKv     

 wb‡Pi †KvbwU mwVK?  

 K. i I ii  L. ii I iii   

 M. i I iii  N. i, ii I iii  

7. wWwRUvj gva¨‡g e¨eüZ wewfbœ ai‡bi Qwe n‡jv-  

 i. K¨v‡givq †Zvjv Qwe   ii. nv‡Z AvuKv Qwe  

 iii. Bb‡dv-MÖvwd·      

 wb‡Pi †KvbwU mwVK?  

 K. i I ii  L. ii I iii   

 M. i I iii  N. i, ii I iii  

8. mvaviYfv‡e B-eyK‡K Kqfv‡M fvM Kiv hvq?  

 K. 2  L. 3   

 M. 4  N. 5 

9. wb‡Pi †KvbwU‡Z KzB‡Ri e¨e¯’v _v‡K?  

 K. B-eyK          L. B-cve  

     M. †PŠKm B-eyK  N. †WUv‡eR 

10. †KvbwU g¨vK Kw¤úDUv‡i fv‡jvfv‡e cov hvq?  

 K. B-eyK  L. B-cve   

 M. AvBeyK  N. ‡PŠKm B-eyK  

11. wewfbœ ai‡bi B-eyK n‡jv-  

 i. B-cve  ii. ‡PŠKm B-eyK   iii. B-ey‡Ki A¨vcm    

 wb‡Pi †KvbwU mwVK?  

 K. i I ii  L. ii I iii   

 M. i I iii  N. i, ii I iii  

12. ¯§vU© B-eyK-  

 i. G KzB‡Ri myweav †bB  ii. G Kb‡U›U gvwëwgwWqv mg„×  

  iii. G wÎgvwÎK Qwe hy³ _v‡K     

 wb‡Pi †KvbwU mwVK?  

 K. i I ii  L. ii I iii   

 M. i I iii  N. i, ii I iii  

• wb‡Pi Aby‡”Q`wU co Ges 13 I 14bs cÖ‡kœi DËi `vI:  

wicb GKRb `„wó cÖwZewÜ| †m Zvi eÜz iæ‡ej Gi wbKU 

GKwU M‡íi eB PvB‡j iæ‡ej Zv‡K g~j eB Gi cwie‡Z© 

`„wócÖwZewÜ mnvqK eB †cÖiY Ki‡jv|  

13. iæ‡ej †h eBwU wic‡bi wbKU †cÖiY Ki‡jv Kx ai‡bi?  



 K. gyw`ªZ eB   L. B-eyK   

 M. †PŠKm B-eyK   N. B-ey‡Ki A¨vcm  

14. wic‡bi wbKU †cÖiYK…Z eBwUi we`¨gvb Dcv`vb¸‡jv n‡jv-  

 i. AwWI  ii. Gwb‡gkb  iii. wfwWI     

 wb‡Pi †KvbwU mwVK?  

 K. i I ii  L. ii I iii   

 M. i I iii  N. i, ii I iii  

15. †KvbwUi AvKvi w`bw`b †QvU n‡q Avm‡Q?  

 K. mdUIq¨vi  L. B‡jKUªwbK wWfvBm     

 M. wfwWI  N. †WUv‡eR  

16. Avgv‡`i †`‡ki †cÖvMÖvgv‡iiv wK‡mi gva¨‡g gvB‡µvmdU 

†Kv¤úvwbi KvR Ki‡Z cvi‡Q?  

 K. gvwëwgwWqv L. wd«j¨vwÝs   

 M. †gvevBj  N. Kw¤úDUvi †cÖvMÖvwgs  

17. wb‡Pi †KvbwU mdUIq¨vi wbg©vZv cÖwZôvb?  

 K. gvB‡µvmdU   L. wewc   

 M. Uªvb‡mÛ   N. weGgWvweøD  

18. Z_¨ cÖhyw³i AšÍfz©³ wewfbœ DcKiY n‡jv-  

 i. ‡gvevBj   ii. †cÖvMÖvwgs   iii. Kw¤úDUvi    

 wb‡Pi †KvbwU mwVK?  

 K. i I ii  L. ii I iii   

 M. i I iii  N. i, ii I iii  

19. gvB‡µvmdU Iqv‡W©i Kvh©iZ WKz‡g›U‡K bZzb bv‡g msiÿY 

KgvÛ Kx?  

 K. File> Save                     L. File> Save as   

      M. Format> Save   N. Format> Save as 
20. c„ôvi b¤^i †`evi KgvÛ †KvbwU?  

 K. Insert >header Footer    

 L. Home >header footer 

 M. Page layout >header Footer  

 N. View >header footer 

 

21. Awdm 2007 G WKz‡g‡›U Qwe †hvM Kivi Rb¨ e¨eüZ nq-  

 i. Illustration MÖæc   ii. Picture AvBKb 

   iii. Clipart AvBKb     

 wb‡Pi †KvbwU mwVK?  

 K. i I ii  L. ii I iii   

 M. i I iii  N. i, ii I iii  

22. c¨vivMÖvd MÖæ‡c _v‡K-  

 i. ey‡jU    ii. bv¤^vi iii. Spacing     

 wb‡Pi †KvbwU mwVK?  

 K. i I ii  L. ii I iii   

 M. i I iii  N. i, ii I iii  

23. MS Excel Gi myweav n‡jv-  

 i. evRvi we‡kølY Kiv hvq    ii. kZ© mv‡c‡ÿ wnmve Kiv hvq  

   iii. ª̀æZ wi‡cvU© Kiv hvq     

 wb‡Pi †KvbwU mwVK?  

 K. i I ii  L. ii I iii   

  M. i I iii  N. i, ii I iii  

24. †¯úªWwkU we‡kølY e¨envi Kiv hvq-  

 i. ‡jLv‡jwL Kiv mnR  ii. m~Î e¨envi Kiv hvq  

   iii. DcvË web¨vm Kiv hvq    

 wb‡Pi †KvbwU mwVK?  

 K. i I ii  L. ii I iii   

 M. i I iii  N. i, ii I iii  

25. †¯úªWwkU †ewk DcvË wb‡q KvR I we‡kølY Ki‡Z e¨eüZ 

nq-  

 i. m~Î    ii. dvskb   iii. fvMwPý     

 wb‡Pi †KvbwU mwVK?  

      K. i I ii  L. ii I iii       M. i I iii  N. i, ii I iii 

 
 

 

 

 

 



 

 


